Cast on 25 stitches + 2 selv sts and work according to chart.
RS rows and WS rows are shown.
Read RS rows from right to left, WS rows from left to right.
RS rows and WS rows are shown with RS of work facing.
The pat rep = 25 sts.
Work between selv sts and rep patt, chart does not show selv sts.
Repeat rows 1- 8 throughout.
Row 1 (rs): p1, k1, yo, k1, p4, k1, p4, k1, p4, k1, p4, k1, yo, k1, p1
Row 2 (ws): k1, p2, yo, p1, k4, p1, k4, p1, k4, p1, k4, p1, yo, p2, k1
Row 3 (rs): p1, k3, yo, ssk, p3, ssk, p3, k1, p3, k2tog, p3, k2tog, yo, k3, p1
Row 4 (ws): k1, p4, yo, p1, k3, p1, k3, p1, k3, p1, k3, p1, yo, p4, k1
Row 5 (rs): p1, k5, yo, ssk, p2, ssk, p2, k1, p2, k2tog, p2, k2tog, yo, k5, p1
Row 6 (ws): k1, p6, yo, p1, k2, p1, k2, p1, k2, p1, k2, p1, yo, p6, k1
Row 7 (rs): p1, k7, ssk, p1, ssk, p1, k1, p1, k2tog, p1, k2tog, k7, p1
Row 8 (ws): k1, p8, k1, p1, k1, p1, k1, p1, k1, p8, k1
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Key
I Enit

{RS) Knit
WS Purl

E knit 2 Together

kZtog

(RS) Knit 2 stitches together
(WSY Purl 2 Together

— T
p

[R5 Purl
(WS Krit

n slip Slip Kniit
sk,

([R5 slip, slip, knit slipped sks together
(W3 slip, slip, purl slipped sts bogether

Mo Stitch
%

{RS5} Mo Stitch
(WS Mo Stitch

.I Yarn Over
v

([R5} Yarn Cwer
(WS Yarn Owver
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